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1. (3 points) What is the difference between a saturated and a supersaturated solution?
2. (12 points) Lactose, C12H22O11, is a naturally occurring sugar found in mammalian milk.  A 0.335 M solution of lactose in water has a density of 1.0432 g/mL at 20oC.  What is the concentration of this solution in the following units?

a. Mole fraction

b. Mass percent

c. Molality

3. (5 points) At an altitude of 10,000 ft, the partial pressure of oxygen in the lungs is about 68 mm Hg.  What is the concentration (in mg/L) of dissolved O2 in blood (or water) at this partial pressure and a normal body temperature of 37oC?  The solubility of O2 in water at 37oC and 1 atm pressure is 1.93 x 10-3 mg/L.
